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1. (a) “Wealth maximization is a better c11ter10n than
profit maximization “Do you agree? Explam (8)

(b) Explain the Time Valué of M'oney Concept. What
are the factors affecting the Time Value of

Money? (7)

OR

(a) “Financial Management has expanded in 1t scope
during last few decades”. Examine the modern
approach to the scope of financial management.

(8)
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(b) The cost of the plant is T10 Lacs. It has an
‘estimated life of 5 Years after which it would be

disposed off (Scrap Value — Nil). Profit before
Depreciation, Interest, and Taxes (PBIT) is
estimated to be ¥3.50 Lacs p.a. Find out the yearly
cash flow from the plant (given the tax rate @
30%). Qe S ‘ (7)

2. (a) B Ltd is considering two proposals I and II with
the following details : |

Items ‘Year ‘Pr(.)po,\sal I | Proposal II

Investment - 219,000 © | 40,000
Cash Inflows | Year1 | Z 8,000 % 16,000
Year2 | %8,000 216,000

| Year3 [%9,000 . |Z24,000

You are required to suggest the most attractive
proposal based on the NPV method considering
that future incomes'are discounted at 12%. Also,
find the IRR of the two pfopoSals. (8)

(b) What is meant by capital budgeting decisions?
What are its main features? Why do NPV and
IRR techniques of evaluation of capital budgeting
lead to conflicting project ranking? (7)

P.T.O.
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OR
(a) A firm whose cost of capital is 10% is considering

two mutually exclusive projects A and B, the
" details of which are as follows :

Items Year ProjectA | ProjectB
Cost " 0 | 250,000 ° % 50,000
CashInflows | 1 25,000 225,000
2 10,000 Z 20,000

3 215000 |. %10,000
4 0 ¥22500 | %5,000

-5 Z 30,000 25,000

Compute the Pay Back Period, Net Present Value
at 10%, Profitability Index, and Internal Rate of
Return for two projects. Which project you would
recommend out of the two and 'why‘?_ (15)

3. (a) A Firm sells its product at ?10 per Unit, Variable
cost Ratio is 70%. Fixed Cost is ¥10,000. Present
sales are 10,000 units. Calculate the following:

(i) Degree of Operating Leverage.
(i) New EBIT if sales increase by 40%.

(iif) New EBIT if sales fall by 25%. (8
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(b) X Ltd. and Y Ltd. are in the same risk class and
are identical in all respects except that company
" X Ltd uses debt while company Y Ltd doesn’t use
debt. -The levered firm, X Ltd. has 9,00,000
Debentures carrying a 10% rate of interest. Both
the firms earn 20% operating profit on total assets
of 215 lakhs. The equity capitalization rate (ke) is
15%. You are required to calculate the value of
firms X Ltd and Y Ltd using the Net Income (NI)
Approach. Also,\ calculate the overall cost of
capital (ko) of both the firms X Ltd and.Y Ltd.

| | (7)

OR

(a) Manoj Traders Ltd 'has the following capital

Structure : _ ey
* Equity Shares (2,00,000)  40,00,000
10% Preference Shares . 10,00,000

10% Debentures Vo 30,00,000
s 80.00,000

The share of company currently sells at ¥25. It is
expected that the company will pay a dividend of
32 per share which will grow at 7% forever.
Assume a 30% tax rate. You are required to
compute a weighted average cost of capital on
existing capital structure. = (8)

P.T.O.
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(b) “The cost of debt is generally lower than the cost
of equity.” Explain, Also, explain yarious methods
for calculating the cost of debt. (7)

4. (d) The details of XYZ Ltd are as under :
P.roduc_tioﬁ of the Yeax‘;__S0,0dO‘_units
Finished Goods In\;en_to"ry": "3 Months
Raw Material; In\{eﬁtory;\ 2 ,Montl;s_(éc.)h;sur.nption
Production Process :l_Monfh |
| -Credit allowed blvy Cre;ditors: 2 Months
Credit alloﬁed to Debtors: :3 Months :
Sellihg Price \per'uni»t' T 50 per unit
Raw Materii_alz 50% of the selling price.
Direct Wages: 10% of the selling price.

Overh‘eads: 20% of the selling price.

There is regular production on the sales cycle,
and wages and overheads accrue evenly. Wages
are paid in the next month of accrual. Material is
used at the beginning of the prdduction cycle.
WOTk;in-process involﬁes the use of the full unit
of raw materials at the beginning of the
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manufacturing process and other conversion costs
equivalent to 50%. You arc requited to find out
the working capital of XYZ Limited. (8)

(b) Explain the major determinants of the working
capital needs of a business firm. N0

- OR
(a) The following'data is .c__)f Fr_ahk'L_td.: o
Existing Capital Structure: 10 lakh quhu;ty Shares
of T10 each, Tax Rate is 50%. .
Frank Ltd plans to raise additional 'ca'p.ita:l of T100
- lakhs for financing an expansion project. It is

evaluating two alternative plans:

(i) Issue of 10,00,000 equity shares:of T10
each and '

(ii) Issue of 100 lakh debentures carrying a -
‘14% interest rate. You are required to
calculate the indifference level of EBIT.

(8)

(b) The management of A Ltd is considering changing
its present credit policy the details of options are
given below :

P.T.O.
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Credit Policy present | POLICY 1 | POLICY Il POLICY 111
Sales %1,00,000 [ X1,12,000 %1,20,000 21,24,000
Vanable Cost as a 9 80% 80° 80%
Fixed Cost %12,000 12,000 Z12,000 212,000
Average 17 g ' 75 d
Collection Penod 30 days 2 dgy 5. 60 days ays

The firm’s rate of Investment is 20%. Assuming

360 days in a year Advise which option is best.

7

5. (a) The followmg are the detalls regardmg A Ltd B
Ltd and C Ltd: -

ALt B Ltd CLtd
r=15% r=5% R=10% .
Ke = 10% Ke=10% Ke=10%
E=38 E=Z.8 E=%8

Calculate the value of an equity share of each of
these companies by applying Walter’s formula
when the dividend payout ratio is (a) 25%
“(b) 50% (¢) 75%, What conclusions would you

draw‘?

(8)
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(b) Explain the Gordon’s model of dividends.
What are its assumptions? Does the value of the
firm is affected by the dividend policy as per this
model? . (7)

OR

Write short notes on any three of the folloWing:
,(i) ABC analy31§ of 1nventory management

(11) EBIT-EPS Analysm

(iii)) EOQ Model

(iv) Difference between Operating and Financial ,

Leverage.

(v) Cash Budget. i (15)
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